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Note: First 15 minutes are allotted for the
candidates to read the question paper.
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Instructions :

i)

ii)

1)

This question paper is divided into three
parts, A, Band C.

First question of each part is multiple
choice type. Four alternative answers are
given in each. Select the correct answer and
write down in your answer-book.

Attempt all the questions of each part
together at one place. Each part should be

attempted on a new page.

1v) All questions are compulsory.

v) Marks of the questions are mentionec
against them.

vi) Illustrate your answers with neat and
labelled diagrams and chemical equations
wherever necessary.
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iii) 3y &1 frem

iv) 399 | F% 7@ 1
A mirror always forms an erect image
of any object. The mirror is

i)  plane

1) convex

ii) concave

iv) plane or convex. 1

Distant point for g normal eye is
1) 25¢m

1)  infinite

i) 100 em

1Iv) S0 em. 1
A current of 92p iIs flowing in a
conductor., The amount of charge

passed  through the conductor in
2 seconds will be
i) 4 coulomb
n) 1 coulomb
i) o coulomb

iv) 8 coulomb,
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In order to find the direction of induced
electric current, the law is

i)  Fleming's right hand rule
ii)  Fleming's left hand rule

iii) Ohm's law

v) none of these. 1
A w1 fEm fofEw @F amR W
1 &M =} afesfa wifeg) 2

6 T @i % 3 ot w fafaw) 2
16 ¥l BFF A ¥ gAS T & WHE
TH ] 8 At W g W v ¥ I9ge e
ARG TR T Wi w5 Rafy vy
i wifeg 2

State Ohm's law. Define 1 ohm on its
basis. 2

Write two properties of magnetic lines
of force., 2
An object is placed at a distance of
8 cm from a concave mirror of focal
lc.ngth 16 cm. Draw a relevant ray
diagram and find the position and the
nature of image thus formed. 2

901 | Turn over

https://www.upboardonline.com

824(BO)

E)

63562

(5]

3. &) fed 3a@ ¥ FR 94 ufdfa=m zq e

smrg gl a1 AidlaE & AR W fromh
ot i, D T (i) I T 2f F g
fora @), 3l (ii) TG &8 @ 2f W w &
2+ 2
v
U 20 ¥ HHE T O HIAA oF &
A 20 W W wEE T W wE awg fEm
2 TE & viatam # Rafa q@ veq o
3 TR s ) 4
f&d aeeh w1 dafdiy 6 sRel | AR
A & ? §HR FE A Oqg dF Wi
R,,R, ¥R R % qca uiety §a Hifew1 4

Aaar

forga wfe |« A & 2 200 A€ T
#2T 250 Al & WY { 9T ¥ 1 O g
() € | wled wWm, (ij) €T F AR &
wieRTY, (i) 10 92 W =afaq faga el
1+1+1+1

L L )|

https://www.upboardonline.com

g =

R b



3. a

b)

6745672

7 824({B0O)
Draw ray diagram and also comment
on the size of the image formed by a
convex lens, when the object is (i) in
between infinity and 2f and (ii) at
distance of 2f, from the lens. 2+2

OR
An object is placed at 20 cm in front of
a concave lens of 20 cm focal length.
Show the position and nature of the
image of the object by drawing a ray
diagram. 4
On what factors does the resistance of
a conductor depend ? Find the
equivalent  resistance of three

resistances R ,R, and R, connected in

parallel. 4
OR

What is the meaning of electric power ?

A heater of 200 W is connected

with the mains of 250 V. Calculate

(i) current flowing in the heater,

() resistance of the heater Wire

(i) electrical encpgy consumed 1N
10 hours. j+1+1+1
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What is the difference between direct
current and alternating current ? Describe
the construction, principle and working of
an electric motor. 1+2+2+2
OR

State Fleming's left hand rule. What are the
factors on which the force acting on a
current carrying conductor depend, placed
In a uniform magnetic field ? What will be
the effect on the force, when current

carrying conductor is placed (i) parallel to

the magnetic field (i) perpendicular to the
magnetic field ? 7
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i) KCN

i) NaHSO )

iii) NaCl

iv) Na,SO, 1
Fe,0, +2Al - AL,O, +2Fe

% fafwEar %G‘W HE?

) foarse sfufera
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Which of the following is acidic
salt ?

i) KCN

1) NaHSO,

iil) NaCl

iv) . Na ,50, 1

F‘e,}_,(j3 +2A1 5 AIZOS +2Fe

Which type of reaction is this ?

i)  Decomposition reaction

1i)  Combination reaction

iii} Displacement reaction

iv) Double displacement reaction. 1

Formation of oxygen layer on the
surface of Aluminium is called

1)  Anoding

1)) Catenation

ill) Bessemerisation

iv) None of these. 1
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What is decomposition Teaction ? Give
one example. 2
Write the method for preparation and
applications of Plaster of Paris. 2
What is Corrosion ? Give two examples
of corrosion. 2
fr=fefaa & JUPAC A fofag :
}I-l H
1-tmg-do
1) H O H
H H lLl
T “%L (lL C= 1+1
H H H
qUgAE F oEd 9Rol F@ ¥ 2 T &
= fefEn | 1+1
Write IUPAC names for the following :
1|1 H
. H‘C‘E"(‘J—'H
1) I [
H H
Il-l HH -
ii) H ? ¢ é Br 1+1

H H H .
What is Mendeleev's periodic table ]
+
Write its two benefits. 1
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8. Write short notes on the following :

i)

ii)
iii)

63562

Saturated and unsaturated

hydrocarbon 2
Combustion and addition reaction 2
Micelle. 3
OR
L 1 )1
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a)  Write chemical equations for the ™ T fmor gl &

following : ) g e} iy TFd H
i Ethanol ts with sodium 1 :
) notreac . . iii) e A iv) &4 A !
1)  Ethanoic acid reacts with sodium
hydroxide 1 ) @R d $19-91 USIEH Y ST § 2
i) Ethanoic acid reacts with sodium hAR i) ofiem
carbonate. 1 ) 1)
b) i)  Write two applications of Ethanoic iii) frafe iv) TRYE) 1
acid. 2 9. a) According to Mendel, genotype of a
i) How do acids and bases react with pure tall pea plant is
5 : o
each other ? Explain giving ) TT i) Tt
example, 2
i) tt iv) T
e - 7 b) What is necessary for autotrop!
PART - C nutrition ?
9. %) HUIH % FAR N F I o7 U F A ) €O, andH,0
WIEY B ¥ " i) Chlorophyll
BT _— iii) Sunlight
ii) tt iv) tT 1 iv) All of these.
) . 5 T AEE ko c)  Urine formation occurs in
. S o i} Kidney ii) Liver
) FET TSRS i e iii) Spleen iv) Heart, 1
i) FARIE d) Which enzyme is found in salivg »
i) W ) Pepsin i)  Amylase
| . N iiij Trypsin iV} Lipase, 1
iv)  3TH T guh ol
9 [ ]
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Al an fasfa § < wpd 3R fefan
1+1
HEA A uRafyg gifem 2

T G W F Amifaa foT SR 9
Write down two main differences
between living and non-living. 1+]
Define Respiration. 2

Draw a labelled diagram of open
stomata. 2

W H AE @ deF @ O A
B & 7 https://www.upboardonline.com 4
HYAT

AHE & HR1 S @9 H1 qras qu S
4
TR 68 #ed € 2 Ame d fm frw

wisha 1 S0 FHi) 2 +2
g

Ffe IR FWOE 2 T Pl &

fafay 3urat #1 Ieem =i 2+ 2

How are water and food transported in
plants ? 4

OR
Describe the human female
reproductive system with diagram. 4
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b) What are chromosomes ? Discuss

the sex detcimining mechanism in

humans. 2+2
OR

What are the waste products ?

Describe various measures to reduce
them. 242
12, TEE g QA BIG | O AT TR 8]

Tiaw danE W wem a3 ST

! T= e 2+5
Jaan

o % WoRTE A R-WERTE S & avH

Ff=a 7

12. Define environment. Discuss the

appropriate conservation and proper use of
‘natural resources for a good environment.

2+5

OR
Describe the traditional and non-traditional
sources of energy. 7
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